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m
(

ẍ− xφ̇2
)

= mg sinφ+ F

mẍ−mxφ̇2 = mg sinφ+ F

�� !������ "� ����� ��#$� �� %�!"���&
7

5
p2X(p) −X(p)φ̇2 = g sinφ

%'()!��(*�� ��� !����� ��+"�� !��#�� �� �,!!���� -,� φ̇2 → 0 �� -,� sinφ → φ !�,� .��"�#���
�/�,��� 0

X(p)

φ(p)
=

5g

7

1

p2
=

7

p2

1� 2�� ��#�����& "� !�")�3#� ������$�����-,� �� /�,�"� �,4���� ���

ϕ(p) = p2 + εp

�� ���� �� /�,�"�  ��#$�
ψ(p) = p2 + εp+ 7K

-,� ��� ���� ���/"�
∀ε ∈ [0 · · · 1]

� %� ��#!� �� �$!���� ��� ��������
(t95 = 6/ε) �� "'�#�������#���

��#��,� -,��� "� +��� �,+#�����
5� 6(��7 �',� �$+,"���,�& �� ����� "�� 5 "��,7 �'84���&
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9�,"� "� �����*�� ��",���� (R3)
���4����& �""� ������!��� 0 ,�� ���������� !�� �4���� �� !(����

:� 6�##���� 0 ����,� �'$���& �� /�,�"�  ��#$� �� �$���� ,�� �)��#�-,�

ψ(p) = p2 + 2p+ 4 =⇒ KT =
[

4 2 − ε
]

�� !�,� �"��� $�,���� ��,� "�� ��� ��  ������� ��� 4�"�,�� �� ε
ε = 0 KT =

[

4 2
]

=⇒ si ε = 0,5 ψ(p) = p2 + 2,5p+ 4
=⇒ si ε = 1 ψ(p) = p2 + 3p+ 4

ε = 0,5 KT =
[

4 1,5
]

=⇒ si ε = 0 ψ(p) = p2 + 1,5p+ 4
=⇒ si ε = 1 ψ(p) = p2 + 2,5p+ 4

ε = 1 KT =
[

4 1
]

=⇒ si ε = 0 ψ(p) = p2 + p+ 4
=⇒ si ε = 0,5 ψ(p) = p2 + 1,5p+ 4

����"�#���; "� ��",���� #$����� ε = 0,5 ��� "� #���� �����/"� 0 ��� 4��������� �� ε
�



�� 6(��7 �',� �$+,"���,�& �� ��"�,"� "�� !3"�� �� /�,�"�  ��#$� !�,� �(��,� ��� 5 �$+,"���,��&
R2

����� 1 #���� �$�"�
−1 � −19,5 �� ,� #��� ��#!"�7� ξ = 0,95 � ωn = 0,23rd/s & /��,��,! ���!

"���
R1

����� ,� #��� �$�" ��
−8 �� ,� #��� ��#!"�7� ξ = 0,39 � ωn = 2,8rd/s & ���4���/"�

R3
����� ,� #��� �$�" ��

−4 �� ,� #��� ��#!"�7� ξ = 0,12 � ωn = 4,2rd/s & ���! ����""���
R2

� $�$ ��"�,"$ !�� ,� �/���4���,� �������$; "�� ��,7 �,���� !�� ��� �/���4���,�� #���#�,7�

�
������ �

6�"�," �� "�  ������� �� ����� ���&










τpγ = α
pH = V γ =⇒

p2θ = mU − γ











α = τpγ

α = τp2

V
H

p2θ = p2 (α+ γ) = mU −
τp2

V
H

�� ����
H(p)

U(p)
=

mV

τp4 + p3 + τp2

� +��,!� �& ��##���� �� /�,�"� �,4���� #*���� 0 "'�����/�"��$ �� !����-,� �1 !3"�� �� ��
� +��,!� 1& ��##���� 0 ����,� !�����" �� "'$���

u = hd − k1h− k2α− k2γ = hd − k1h− k2
τ

V
ḧ− k2

1

V
ḣ

�'�� ,� !�")�3#� ������$�����-,� �� /�,�"�  ��#$�

ψ(p) = τp4 + p3 + (τ +mk2τ)p
2 +mk2p+mk1V

�� !�,� ���")��� "� ���/�"��$ !�� "� ����*�� �� 	�,�(
�,����


τ τ +mk2τ mk1V
1 mk2 0
τ mk1V 0

m(k2τ−k1V )
τ

0 0
mk1V 0 0

�"  �,� ���� ��#!"�� ,�� ��,/"� ���������

k1 > 0 k2 >
k1V

τ

� +��,!� 5& ��##���� 0 ����,� �� ������� %� !�"3#� ������$�����-,� �� /�,�"�  ��#$� ��4����

ψ(p) = τp4 + p3 + τp2 +mkV

%� ����*�� �� 	�,�(
�,����
 �����
τ τ mkV
1 0 0
τ mkV 0

−mkV
τ

0 0
mkV 0 0

-,� ��� ���� �����/"� !�,� ��,� �

1


